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Math 70 5.9 Algebra of Functions

Objectives

1) Find a new function which is the sum (f + g)(x) difference (f - g)(x), product ( f g)(x) or
quotient (f/ g)(x) of two given functions.

2) Recognize function notation and notation for the names of these functions.

Practice and Examples
1) Given f(x)=3x*+4x+1and g(x)=2x-5,find: - i 5  {
a) (f+g)x) b) (f—g)x) 9 (f-8)x) j ?) (f/8)x)
|
o
J-D=4 g(-H=-4
2) Given JO)=5 g0)=-3 ,find -
J@)=7 g@)=-1
fMM=1 g(M=9 : : RO ;,?j
a) (f+8X2) ad (8D | e (f /.g)(ﬂ)
oL
b (/-2 9 (-2 0 @no




Math 70: 6.1 & 6.2 Factoring Expressions (GCF & Grouping) and Solving Equations |

Objectives : Ch
1) Solve nonlinear equations using graphing methods or factonng with zero-product property
2) Factor expressions containing monomial Greatest Common Factor (GCF) .
3} Factor expressions containing binomial Greatest Common Factor (GCF) j : ;;
4) Factor expressions with negative leading coefficients ' P Lo
5) Factor expressions with four terms using grouping (GCF three times)
6) Factor expressions with three terms and unitary leading coefficient
7) Factor expressions requiring two or more of these skills
Solve by graphing (both intersection and x-intercept methods) then by factormg w:th the zem product
property - s
1) x*=6x
Write an equivalent expression by factoring.
2) -8p°¢>+4p°q* ~10p°q* 7 47 -15+207 -3t
3) 15x° —12x* +27x° -3x? 8) *-9t+20 ‘
N 2 2 g
4) 71:(1:2 +5y)+ 3a(x* +5y) - 9) x*-48y*+2xy i
5) (a—be+5)+(a~—be-—y2) 10) x* +x-7
6) x*+3x*-5x-15
Find the zeros of the function.
11) h(t) =—161* + 641
Find all the values of a for which f(a)=0
12) f(x)=x*-3x* +4x-12
Solve. ' ‘ 5 }
TN 13) ~2x +26x% =-1216x 14) 1-10)t+1)=-24
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